kg/cm
23
1
kp/cm
kp/cm
kp/cm  kg/om? 2
kp/cm  kg/cm?
sex s (MLTH) wHUER (FLTF)
&
d KoOF  A-tamER | ok T | Aot amisg
n
o m & M | kg [FL-tT? \ Kg-sec?/m
EH(H) |[MLT* i kg-m/sec® IF ‘ Kg
E  # [MLT 1 kg-m/sec? |FL™? Kg/m®
A, ML“3 | kg/m* [FL~*T* Kg-sec?/m*
K E R ~2T-% . kg-m?%/sec? FL™® Kg/m
* 7| S N ’ kg-m/sec FL™T Kg-sec/m?
T ‘MLZT 2 kg-m?/sec® FL Kg-m
1 RHERT MT'" I kg/sec? FL-! | Kg/m
kg Kg

19 cm/sec’® ldyne



3 /sec? 20 da

0.0012  /cn® aw 7.0 /
cm® 1.00106
1.00106
Kg kg
/sec?
/go /gc ac 1 p
kg /Kg sec? / 2
1 u?
kg Ap= (4f) (D) (Zg) p
go 9.80665  /sec?
Kg / ?
— 1 . /-, , / 2
THhHrb ot 1 (Kg) =g X1 (kg x Y ;s
9.80655  /sec? gc  9.80665 / / /2 p
kg /Kg sec?
/ 2
gc
go p  kg/cm?
9.79801  /sec? kg /sec? gc kg /Kg sec?
/gc 0.990119 Kg /2
gc gc Ko/
/ cm? kg/cm®
c
g 2
gc
P . gc d?.n-p\p ,d-nig
ek (S (5)
4 Kg /sec
kg/cn? kg/ sec
gc 9.80 kg /Kg sec?
Kg /
sec
kg
Kg
nEn s =1 x 2801
T Kg kp Kg
, kp
/sec
da /cm?
dw /cm?

9.79801
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332
29

28 10
20

26

12 31

1 1kgf=9.8 N
1tkgf/cm®=9.8 bar
2 1K g=980665 dyne
=0.980665 Mdyne
=9.80665 N
1dyne=1.0197X10" °Kg
(3 1bar=10°dyne/cm?®
= 1 Mdyne/cm?
=1.0197 Kg/cm?
1Kg/cm?®=0.980665 bar

400 Kg/cm?
400 kgw/cm? 392 bar
400 kp/cm?
p 10 1956
P 4,
1959
p 94 1955
p 744
1955

PN B 51 107 1961
p 4 1958
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& #H E
E vl kg-m/sec? kg/m-sec?
HE E kg-m?/sec? kg/m?2.sec?
i ) 4 kg-m/sec kg/m-sec



